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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU, SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET. ' B
Please note that it is the candldate s responsnblllty te encode and fill i in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet.. ‘Any omlssmn/dlscrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet. , ]

This Test Booklet contains 100 items (questions). Each item is prmted both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to
miark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

-in the Answer Sheet.

All items carry equal marks. -

Before you proceed to mark in the Answer Sheet the response to vanous 1tems in the Test Booklet,
you have to fill in"some partlculars in the Answer Sheet as per mstructlons sent to you with your
Admission Certificate. :

After you have completed filling in all your responses on the Answer Sheet and the exammation has

. concluded, you should hand over to the Inv1g11ator only the Answer Sheet. You are perm1tted to take
‘away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four alternatives for the answer to every question. For each questlon for which

a wrong answer has been given by the candidate, one-thlrd of the marks ass1gned to that
question will be deducted as penalty.

‘(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one

of the given answers happens to be correct and there will be same penalty as above to that
question. : '

: (iii) * If a question is left blank i.e., no answer is given by the candidate, there will be no penalty

for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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- 1. The number of values of x satisfying

| ©

x.+—x—>50;wherexisa1_1atural number -2
less than or equal to 100 is @ o
. (@) 51
(b) 53 : - - 5. The ' largest natural number which
(o) 55 | o divides every natural number of the form
_ ' @ —n)n-2), where n is a natural
d 57 number greater than 2 is
2. What is the sum of digits of the least ; (@ 6 ”
multiple of 13, which when divided B
by 6, 8 and 12 leaves 5, 7 and 11 ® 12
respectively as the remainders ? '
(@ 5 | - () 24
® 6 @ 28
() 7
@ 8 6. The average of ‘m numbers is n' and

the average of n numbers is m*. The

3. A milkman claims to sell milk at its cost average of (m +n) numbers is

price only. Still he is making a profit of |
20% since he has mixed some amount

: ; : (a) .mn
- of water in the milk. What is the
~.percentage of milk in the mixture ? ®) P+
200 | | . _
@® 3 R - ‘ N\ (C) mn(m? +n’)
®) 7% . S @ e+ )
(c) 80% "
250, ' ' ( . 7. The digit in the units " place of the
(d), 3 % _ - ' ~ resulting number of the expression

(234)!°+ (234)1 s

4. What is \/4+\/4—«/4+ 4-— (a) 6
equal to ? ' A
~ ®) 4
(@ 3 '
. i3 @© 2
13-1
® = o o @ o
B-ABVB-O-GPU - A | B '
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(@ 51

() 53
(c) 55

d 57
.13%3?{83311@33: i afy 6, 8
IR 129 Fmfia fe s @) a5,

73R 11 IvwE F=q T, maﬁemvﬂm :
TR ?

(a) 5
) 6
(o 7
@ 8

. T g fogkan g Y e ARG 86 W
S 1 T AT € |« qa W 9a
~120% ST AW W TIA1 ¢ FWifh 964 gy
8 o f 3w frend @ ) R §
qu <t ke fraet @ 2

200
(a) 3

" b) 7%
(c) 80%
250
d
(Y] 3

) \/4+-3/4—\/4+: 4-
- froe g 7
@) 3

V13 -1
2

%

%

()

y
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) «/E+1- |
2

@ 0

. (7 —n)(n-2), & n 2%@@%@;&

%,%.maﬁmaﬁwaﬁﬁmﬁa'
FH AT FgaH QUi H A R 7

@ 6

® 1

(§) 24

@ a8

6. m W N A 2t # AR n FEmA
&1 SEd 7' R | (m+n) G 1 fEa
i

- (@) mn

(b) m2+n2-.

©) mn(m* +n?)

(@ mn(® +n’ — mn)

7. ST (234)“’" +(234)"' <y aforet Hen
F @E ¥ W W AF g ?

7 (@ 6 o

(b) 4
© 2
@ o
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8. If x= «/— +«/— then the value of

1 1
X txt+—+— is
x x

(a) 1043

®) 2043

- (© 1042

@ 202

10.

. The value of

! +‘1 - l_ F oo - B
1x4 4x7 7x10 .16><19 .'
@ %

(b) -1%
@

@ -

Two trains are moving in the same
direction at 1-5 km/minute and 60 km/
hour respectively. A man in the faster

train observes that it takes 27 seconds to -
cross the slower train. The length of the

slower train is

'B-ABVB-O-GPU - A

A (a) 225 m

11.
~ of oil were taken-out-from this tin and

®) 230m

(0 _246 m. _

(@ 250m '

_ . -
A tin of oil was — full. When 6 bottles

4-bottles of oil were ‘poured into it, it
3
was 2 full. Oil of how many bottles can

the tin contain ? (All bottles are of equai
volume)

(@ 35

(b) 40

(© 45 i

'_ @ 50

12,

A number when divided by 7 leaves a
remainder 3 and the resulting quotient
when divided by 11 leaves a remainder 6.
If the same number when divided
by 11 leaves a remainder m and the
resulting - quotient when divided by
7 leaves a remainder n. What are the

values of m and n respectively ?°

(a) 1 and 4

., ) 4and 1

(c) 3and 6

~ (d) .6 and 3
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8q%x f+f?ﬁx+x+ +i‘q»"r '

a8 ?

@ 103

) 2073

© 10v2

(d | 2012

-1+1+1++1

1x4 4x7 7x10
A AT e ?

16x19

@ =

L@ =

10.

) 2

© %

qr Yamfeat éﬁ#&i: ’1-5‘ km /fwe aﬁz-}
60 km /¥r @ wwW fewm A W @ €

I wfy aret @ § uw =R @ @

C 7 5 el Ry arel Yo @ o wA a

27 ¥ T & | efielt TRy A ey

. TR T8 ?

_',11;
| _ﬁirﬁaiaa‘aﬁﬁm--waﬁ?mﬁ

(a) 225m

(b) 230m

() 240m
(d 250m

éaaﬁqa%w%mgmmlﬁﬁé‘
43w 3 g TR S W
a1 | fo= # fre Aqet Aot THATR 7
(Tt ST w1 HETT A B)

@) 35

‘(b) 40

- (© 45

12.

@ 50

et W = afe 7@ fenf R wmg

@ 3 ATH @ R, AR AR R

The @t 118 el fean st 6

JwEa wwa | af gd wenm W 118

3k R wETEd @ s 7 @ R

Wmﬁnmm%lmﬁn '
& HAW WE T g 7

(@) 13K4

e

®) 43R 1

© 336

(d 633
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13. Consider the following 1 1espect vt e - 10. 1 u, b and ¢ satisfy the equation °
- / . £ -3 +2+1=0 then what is the
. -1 ' ' 1 1.1 '
equation y =--(-f——)—_ » value of —+—+— ?
' x—-1 o a c
Cy=1ifx> 1
1 y 1 if x 1 ( a) _2
2
2 y=-1lifx<1 _
i : - . ®) 2
' 3. y exists for all values of x ‘ : '
| | | )
Which of the above statements is/are (.c)v
: . correct ?
| - o @ L
‘ : : (a) 1 only . -2
(b) 2only ‘ ' o
T : 17. A and B are two taps which can fill
(¢) 1and 2 only - . ‘a tank individually in 10 minutes and
' _ : * 20 minutes respectively. However, there
(d.1,2and 3" - : - is a leakage at the bottom, which can
. ' empty a filled tank in 40 minutes. If the
: g ‘ : tank is empty initially, how much time
14. If (+ 1) is the HCF of A+ Bx+C will both the taps take to fill the tank
and Bx"+ Ax + C where A #B, then the with leakage ?
value of C is _ _
@ 4 (a) 2 minutes
®) B , (b) 4 minutes
(c) A-B - . _ ' (c) 5 minutes
@@ o. - , ’ (d) 8 minutes
15. The seven digit -number - 876p37q is . 18. Which one of the following is correct ?
divisible by 225. The values of p and g - Co ' :
can l?e respectively - | () J2 <46 <¥a
@ %0 | |
- ® V2>46>3a
® 0,0 . ' : .
| (© 0,5 . . . - © Yo<2<¥4
@ 9,5 ; @ Y6>v2>4
‘B-ABVB-O-GPU - A ' ‘ -6
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13, w2 W61 Y osad

x-1

‘ﬁmﬁ%ﬁvﬁaﬂ?ﬁﬁq

1.y=1uﬁx>1

2. y_=—1?3[%x<1

-

3.xmﬁwraw~mma%a |

2
aqgmmﬁ%aﬂwm/awé%/% ?
(a) aﬁm
(b) ¥ 2

© mlaﬁtz

S (@d 1,233 |

14,

afe 4x®+ Bx+ C ] Bx’ + Ax+ C 1,

16.

1S a, bR ¢ T 2 — 3% +2x+1=0

* HqE TR E, A +b+lamm=rw

17,

&l A # B, WexW wAES (c+ 1) § A

CH AF 18 ?

@ 4

15.

® B
(c) A-B

@ 0

A I GO 876p37¢,1225 9 W -

21 p3k g & AW FAW AT T G
g7
@
®)
(©)
@

9,0
0,0" .
0,5

9,5

(a) —5_

(b) 2

| © 2

1
..(d) 5

AR B 79 € Sl Tk IH & Iew-
I A 10 B 3R 20 fime # R
Hha & | W Th & o # Th D¢ §, W
it g e A 40 e # Eet 9w
2 1 afe 3t amw @t 8, 9 Al A
oD% ATE S I A H fhaeT @Hg o 7

(a) 2ﬁ#|z
() 4 fre.

() 5fme

@ 8 fime

18. frafifad & & & @1 U wEr B 7

@ VZ<¥6<Va

®) V2>46>34

© %/6<_«/5_<%/Z

@ 46> >0
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. 19. The value of a single discount on some - delect -the correct _answer usmg ‘the

amount which is equivalent to a series of code given below :

discounts of 10%, 20% and 40% onthe ,

same amount, is equal to : . (a) 1 and 2 only

@) 432% - (b 2and 3 only

(b) 50% - (¢) 1 and 3 only

© 568% . - (@ 1,2 and 3

() 70%

© 23. Let x and y be positive integers such
“that x> y. The expressions 3x +2y and
2x +3y when divided by 5 leave
remainders 2 and 3 respectively. What
is the remamder when - y) is d1v1ded

20. If k=x-y+2z where -2sx<I,
—-1=y<2 and 3<z<6, then which
‘one of the following is correct ?

@ 0<k<9 " by 5?7

®) S<k<il - - (@ 4

(0 2sk<14 ., | b 2

@) 2<ks11 | By (¢ 1
21, The number of pairs (x, y) where x, y

@ 0
‘are integers satisfying the equatlon . { : ; :
2x + 48y =5 is 24, In a race 4, B and C take part. 4 beats

, - B by 30 m, B beats C by 20 m and
(a) Zero .- - A4 beats C by 48 m. Which of the
’ : . following 1s/are correct ? '
‘(b) One A
. : -1. The length of the race is 300 m.’
() Two \ - , '
o 2. The speeds of 4, B and C are in
(d) Infinity the ratio 50 : 45 : 42.
'22. Let x and y be positive integers such . . Select the correct -answer using the
that x is prime and y is composite. ~ code given below : ”
~ Which of the following statements are' : )
: correct’ ? o (@ 1only
1. (y~x) can be an even integer. . () 2only
- 2. x can be an even integer. - '. (). Both 1 and 2 :
3. 0-5(3c+ ») can be an even integer. - g ~ (d) Neither 1 nor 2; :
‘B-ABVB-O-GPU-A .8
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%ﬁuﬁrﬁ@aﬁﬁ%mﬁsﬁ
tr&mzw%,zo%aﬁtw%a"tﬁmﬁ@m
Y h WK B, AT B ?

(@) 432%

C®) 0%

20.

- 21.

© 56-8%
@ 70%

?Jﬁ k=x-—y+22 |

aﬁﬂm@f@%?
@ 0<k<9
® S<k<ll
(c) '2<k<14
@ 25ks1l

THET 21x + 48y = Saﬁaggmﬁaﬁ |

T (x, y) H, ny“;’ﬁ’ﬁ'% e

- i 27
@

22

b &

©F

@ @

. T R x ARy T TR e
%%xwgﬁymélﬁﬂﬁ%ﬂ

ol WA/ W /e

LoD THIT & HehaT © |

2. xy TF T W R RN

3. 0-5,(x+y)@wrf$@m% I

2=<x=<1,

_l'sys23ﬁ'{3$z$6,?ﬁﬁ"?f%ﬁ§'aﬁ

aﬁ%ﬁa@@mma«'a@w»’

I -

() e 1 AR 2

(b) had 2 3R 3

© ¥ 1 9K 3
@ 1,283

23

24.

g ﬁﬁyx>y%vl §& SR 3x + 2y 3R
2x+3yH 5¥ fawfa fen sooa

._ﬁwm 2 3R 3 Jwwd wEd § | W
(x— y)ﬁsﬂﬁwﬁa%mmﬁm .
TR 7 '

@ 4
)/ 2
© 1
@ 0

T e # 4, BIRCHAFT N 1 4,B

W 3OmTS VR IR, B,CH 20m

%WW%WA CF 48 m O K

BIS 3T 8 Ivﬁmﬁf‘@aﬁaﬁﬁm/ﬁaﬁ

R 7\

1aﬁgaﬁm§300m%l

2 4, BIRCH T 50:45:4_2%'

o # €

LR T R W o R A IR

(a) Fad 1

S () FE2
(@ 132 A

@ adLAR2 |

_ B-ABVB O-GPU - A | '

- %2 i -
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25 If the roots of the quadratlc equatlon ’

X —4x— log, ;N = 0 are all real, then the
mlmmum value of N is

(a)
(b)

©)

(d) 10000
26. A motor boat, whose speed is 15 km/
hour in still water goes 30 km down-
stream and comes back in a total of
4 hour and 30 minutes. The speed of the

stream is

(a) 4 km/hour
®) S km/hour
.(c) 6 km/hour
.(d) 10 km/hour

27. If 4 men'. working 4 hours per day for

4 days complete 4 units of work, then
how many units of work will be
cornipleted by 2 men working for 2 hours
‘per day in 2 days ?

(a)’ 2

® 1

©

N —

@ .. =

1
8

B-ABVB-O-GPU - A

10

28,

29.

By increasing the speed of his car by
15 km/hour, a person covers 300 km
distance by taking an hour less than
before. The original speed of the car
was S

(a) 45 km/hour

') 50 km/hour

(©) 60 km/hour

(d 75 km/hour

If m persons can paint a house in d
days, how many days will it take for
(m+ 2) persons- to pamt the same’

house ?

30.
| (a) 42:

(c) 6:

(b)

@) md+2
md—2

| m+2

(c)

md

md

@ m+2

If a:56=3:5 and b:c=.7‘:8, then

2a:3b: 7c is equal to N
105 : 320

15:21: 3._5
15 : 40.

d -30 : 21 : 350-
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A AR ?ﬁN’q’ﬁ?{ﬁH‘qﬂﬂ

. © ——

(@

®

TR ?
1
100

- 1000

1
10000

@ 100000

26.

»_ %aﬁtwwiaﬁmoﬁﬂzﬁmaﬁﬁ }

 Hete, R I o T O F

15 km /2T &, €1 <t feerm # 30 km STt

. %ierm?ﬁamw%?

(@) 4 km/%er

®) 5 klh/sizf

(@) 6km/Ea

@ 10 kg

27.

o i wF a2 fet @ frat

@

e 4 =RE SRR 4R w1 e, 4R |

A4 @E FE @ oA 8, @ QA

THE FE G B4 ?

(a) 2

(®) 1

1

(d)

el A

28.

| é@ ¥ EW

| LET’S LEARN TOGETHER

rr%ﬁ;mawﬁwf 4x — logloN 0F

qmw&saﬁm‘ﬁw ISRIn/FiZI
FFH W 300 km 3 g FI Teel B Fer

.ﬁwmmmﬁmm%lm

ﬁnﬁwwﬁ?
(2) 4_5km/aa_

() 50 km /e

| -(c)'_'so\k:'n/sia

@ 75k

29.

afs m e T W A AR ¥

& a‘f(m+2)6aﬁﬁu‘raﬁa‘gﬁmﬁ—c

| %ﬁﬁmﬁﬁ?wﬁ?

(a) md+2
: _(b) md=2 -
m+2
c —
(c) d
md
d
@ m+2
30. aft a:b=3:5 3K b:c‘=7:8, a
' 2a.:3b:7cﬁ?ﬂaim‘%?
(a) 42 :105: 320
(b) 15:21:35
© 61540
(d 30:21:

350

B-ABVB-O-GPU ~ A
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31. Two trains, one is of 121 m in lertgth 34. Which one of the fgllowing 1s correct ?
at the speed of 40 km/hour and the . '
" other is of 99 m in length at the speed {a) (x +2) is a factor of
of 32 km/hour are running in opposite a6+ 12’62 24x + 32
directions. In how much time will they X
be completely clear from each other (®) (x +2) is 2 factor of

2 -
| from the moment they meet ? X'+ 6~ 120 * 24x 32

0 ' () (x—2) is a factor of
(@ 10s _ | xt =6+ 127 - 24x + 32
1 ' .
®) 1s . (d (x-2) is a factor of
4
© 16 s | , - X +6x*—‘12f+24;;—_32
@ 21s e : 35. 20% of a number when added to 20
' ' ' becomes the number itself, then the
'32. Three athletes run a 4 km race. Their ~ number is
speeds are in the ratio 16 :.15: 11. When : 20
the winner wins the race, then the @ :
distance between the athlete in the ®) 25
second position to the athlete in the third : [
position is ' . @AS0
(a) 1000 m . (d 80
(b) 800 m 4 . . ‘
- 36. Consider the following statements :
(c) 750 m .
\ | 1+tan?0 _(1-tan6\* .
: 1. = - is true for
@ 600:m - ' : " 1+cot?0 (1_—-cot9) :
33. The sum of first 47 terms of the series all 0<9<’E’ 6;&2-
I 11 11 1 1 1 1 ) '
—t—————— +—t—+=—— . is Q- ‘
4 56 4 5 6 4.5 6 1 . :
2. cotd=—— is true for 6 = 45° only.
@ © tan® |
' . Which of the above statements is/are
(b) 1 correct ?
' 6 . _
(@ 1 only
1 . ‘ :
() 5 -, ‘ o (b) 2only
. (¢) Both 1 and 2
@ — .
' 20 o : (d) Neither 1 nor 2
B-ABVB-O-GPU - A° ’ ' 12
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ai‘wnﬁcrm @ﬁaﬁmélzlm%
40 km/a Fit 9 @ ok @, Frh
T 9 m ¥, 32 km/"er H AW,
e Rt & 51 @ § 1 o frem

F & @, ﬁmﬁwﬁé@?@ﬁﬁf
-fg&m%maﬂmﬁ?

(@) 10 s

. (b 11s

() 16 s

@ 21s '

W@ 16:15: 11 IR A § | W oot

33,
¥ W 47 & AR R

A s e &, N g A AR T

.t et 4 km i 3 e € | A

32

w oy Refyat 35 ol A ot et 2 7

(@) 1000 m

(b 800m

(c) 750 m

(@ 600 m

1111 1 11
R TE e
auﬁ456456456

(@ 0

: »' ©).

@

(b) -

13

34

(9]

@

33.

o

awma%an

ﬁw%%aﬁ%aﬂwmwﬁ%?

(@ x* — 68+ 1274~ 24x+ 32
' mgm{[m'@g(ﬁz)% |
460 126 +24x— 32
HT T UAEE (x+2) 8 |
-6+ 120 -24x+32
& TF TAES (x-2)8
6 — 122 +24x - 32
1 TH TEES (x —~2) 8

aft et Fem % 20% F 207 TP W
ma@mmmﬁ% o T e

am%?

(@) 20 |

36.

(b) 25

(c) 50

@ 80 |

it i frar A

L 1+ tan?6 (l—tane)z_’mﬁ

1+cot?@ \ 1-cotf

0<6<—2— 9¢”%1’%rqaar%l '

% fq
AR |
ywf T A A /R v B/
(2) ¥ 1 -
b) w2
(© 1323

@ ARLAE?2

P, 3

LA

B-ABVB-O-GPU - A
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37. If x acosG and y bcot9 then

!

| LET’S LEARN TOGETHER

N

(@'~ b™ax + by™) is equal to
@ _0

® 1

© tan’e

(d) sin’@

38, _C0s0

— ig equal to (where'@ z E)
1-sind - 2

tanf -1
tanf+1'

()

1+sin6 ' B B
" cos@ - '

(b)

tan@+1

© T

1+cosO
sinQ )

@

©39. If
tan(x + 40)°tan(x + 20)°tan(3x)°tan(70 -
- x0°tan(50 ~x)°=1,
then the value of x is equal to

@ 30

® 20
" © 15

v'(dx 10

B-ABVB-O-GPU-A - 14

awma%an

40,

- 41.

(d) Neither 1 no'r 2

42.

(d) possible if a<sp -

(®)

BON

Which of the above statements 1s/ are
- correct ? -

| (@ 1 only

If 6 is an acute angle and sinBcosf =
2c0s°0 —1-5¢c0s0, - then what is sinf
equal to ?

. .\/5__—"1
(@) T

%

.

S
+
+

_§/§+'1 |

@ 7

Consider the following statements :
1 sin66}°> is less than C0s66°.

2. sin26° is less than cos26°‘

(b) 2 only

(¢) Both.1 and 2

If a and b are positive, then the relatlon ‘
2a+3b ' ’
sinf = is

3b
(a) not possible
(b) possible only if a =5

(© possible if @ > b
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qﬁ;’,x=acose ﬁy bcotd @
(ax”' ~ by Yax ™"+ by )mé:amat% ?

@ o0

(O a0

| 38 1=5in0

@
e

L ©
@

39.

(@ si:nzé «

cosO (Gm 6+ )%a‘ésarla?%?

tan8 —1
tanf+ 1

1+sinf
~ cos@

tan6 +1
tanf — 1

"1+cos(9
sin@

"

“tan(x + 40)°tan(x + 20)°tan(3x)°tan(70 -

x)°tan(50 — x)°=l
W xH A R

(@ 30

() 20

©15

@ 10

15

2,

R
. ©
@ -

41.

@
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’ B LET’S LEARN TOGETHER |

40. 7l 6 T Wﬁ?ﬁW 7 ok s1n90089—

2cos39— 1 S5cos6, 'c'ﬁ siné ﬁw‘ﬂa? LRI

- V541
freriaiea Fot R FER i
1. sin66°, cos66° ¥ FH ¥ |

9. '5in26°, c0s26° | FA 2 |

_Gq’i?ﬁm‘}@ﬁqm/ﬁﬂé%/%? -

s ’(c)"laﬁ'{éa;ﬁ

42.

_(d) aa‘rl aéz

'Iﬂ‘%aaﬁxbm%zﬁwa

2a+3b ,
b .

() ¥ TE &
(b) 7@ @ dwT 2 W= a=b

sin@ =

© m% e a>b

(@ m%u&mb

!
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An aeroplane flying at a neight ot
3000 m passes vertically above another
aeroplane at an instant when the angles
of elevation of the two planes from
some point on the ground are 60° and
respectively. Then the vertical

- distance between the two planes is

44. '

(a) 1600(45 —1)m
(b) 1000v3 m

© 1000(3-3) m |
@ 30003 m |

A pole is standing erect on the ground
which is horizontal. The tip of the pole is

tied tight with a rope of length /12 m to"

a point on the ground. If the rope is
making 30° with the horizontal, then the
height of the pole is

(@ 2V3m -

.(b) 32 m
"(c) 3m

45.

-

(d). A3m ’

If tanf + secO = 2, then tan@is equal to

i

(@)

W

& lwn

N | W

©

@

N[ W

B-ABVB-O-GPU - A

40.

A’s salary was increased by 40% and ‘
then decreased by 20%. On the whole

 A’s salary is increased by

47.

48.

(@) 60%

(b) 40%

© 20%

d 12%

A number consists of two digits, whose
sum is 7. If the digits are reversed, the

. number is increased by 27. The product

of digits of the number is -

@ 6

(), 8

) 10/
@ 12

In a race of 100 m, 4 beats B by 4m -
and 4 beats C by 2 m. By how many
metres (approximately) would C beat B
in another 100 m race assuming C and B

run with their respective speeds as in the
- earlier race ?

(a) 2

®) 204

(©) 208

_(dj 32
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3000m‘cﬁﬁ|§ﬂt33m§mq¢zar§

“ter foet qER g oo™ & SR W

q I @O AT € 9 Ol EAE SE

- e ¥ Rt forg A wEw: 60° 3R 45°

(a) 1000(@ —1)m

44.

®) 1OOOJ§m, |

© 1009(3—«5) m

(d 3000/3m

@Wéﬁamwﬁm@@% e

T 9 12 m T U W R e

& frt forg & it s o &

T, %%3%30°maﬁwam@%

a‘raﬁaﬁﬁﬁw%? |

(a) 2«/—m _
(b) 3ﬁm

() 3m

45.

)

@

@ V3m

zr%tan9+sece 2, ?ﬁtane ﬁ?ﬂ%auat
27 '

©

Nk Nw Al bW

@

17

46

AT AT 40% Sgrar T AR fR 20%
WWl%WAWaHHW

F@ 2

F IO H0 W) 8, O T g9 e |
F A A el @ R |

@) 60%

®) 40%

(©) 20%

47.

@ 12%

e 3 st A w8, o
78 | afe st & WE WeR sg feu
wTd o gea ® 27 i gfg | St # )

HEH & ikl YO TR 7

- (@6

() 8

' (c) 10

- 48.

@ 12 |

100 mE TR, 4, B 4 m D

BT ¢ AR A,.Ca?l_2m"_ﬁ@5§>|3m% |

fret 591 100 m Y Qs A, 98 WA g

- fF CHR BT I W A A=A € o

Tl Qg H o, CBa?tﬁTa%tﬁawm

& gnm

(@ 2
(b) 204

(c) 208

@ 32

E —
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In an election 10% of the voters on the
voter list did not cast their vote and
60 voters cast their ballot papers blank.
There were only two candidates. The

winner was supported by 47% of total
voters m the voter list and he got 308

votes more than his rival. The number of
voters on the voter list is-

"(a) 3600

() 6200

(e) 6028

d) 6400

Consider all positive two digit numbers
each of which when divided by 7 leaves
a remainder 3. What is their sum ?

(@) 661

(b) 666

51,

© 676

@ 777

A pipe with. square cross-section is
supplying water 10 a cistern which was
initially empty. The area of cross-section
is 4 cm® and the nozzle velocity of water
is 40 m/s. The dimensions of the cistern
are 10 m x 8 m x 6 m. Then the cistern
will be full in |

 (a) 95 hours .

(b) 9 hours
(c): 8 hours 20 minutes -

(d) - 8 hours

B-ABVB-O-GPU - A

52,

A hollow cyiindrical drum has internal
diameter of 30-cm and a height of 1 m.
What is the max1mum number of

cylindrical boxes of diameter 10 cm and

height 10 cm each that can be packed i in
the drum ?

(a) 60‘

33.

() 70
) 80
@ 90
The ‘speeds' of three buses are in the

ratio 2:3: 4. The time taken by these
buses to travel the same distance will be

" in the ratio °

. (a) ‘.2':3:4

| (b) 4:3:2

S54.

'(c)_ 4:3:6

. d 6:4:3

‘A square and an equilatefal triéngle ‘have

equal perimeter. If the diagonal of the
square is 1245 cm, then the area of the
triangle is

- (a)i 242 ‘om?

() 2443 cm?

(c) - 483 cm?

@ 64J§ cm?
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foreft g & waera T & 10% waea

X G WG A S AR 60 FagEE X
AR HAERT H Gl o fear | Fee @

- SwieER | fodtar ot waem g & 5
HACTATSAT & 47% <1 qredA firem ok s@ |

I wfger & 308 w9 afd WiE g

m@ﬁmﬁa’ﬁw%ﬁf

?°?

- (a) 3600
(b) 6200

() 6028

(@ 6400/

50,

aﬁaﬁeﬁw’aﬁwme’ﬁ'q\t
fer A, fm & & =s F: 7R

R = R AE 38 | FTF A
_W%?, 5 .

(@ 661

51.

(b) 666
(c) 676

A 777

- s3.

FEL H, <1 5 ImerH @ o, A Y

i R | Sued qResg W AAwe
4cm® ® R Ul W gE A (AEE

JAMIA) 40 m/s ® | <l At fammd

10mx8mx6m © | af I ¢t fram
g # A ?

(a) 9-5 =T

(b)y 9 we
(c) 8 ®er 20 fiFme
@ 8%

19

52. @mﬁm;{nmmﬁ%ﬁm -

30 cm IR FE 1 me |9Fa$10cm3€n'€ :
3R 10 cm $ATE AR AAATHR FHET b,
sﬁr%gﬂﬁt@mm% a&wm
?ﬂn%?

 (a) 60

b 70

(c) 80

- (d) 90.'

e R T 23 4% o A E
7 Sl G WA G 97 A H TRE ATl

v fo g 3 2 7

(a) 2:3:4

by 4:3:2

(©) 4:3:6

54.

(@ 6:4:3

@aﬁaﬁzq’mm@ﬁ‘ﬁﬁmw

 gom R | afe =t w5 el 1242 cm ®,

Pt e T R

(@ 2442 om® |

® 2443 o’

" (c) 483 cm’

@ _,64«/3 cm’
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- cost of fencing the area at the rate of -
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A boy is cychng such that the wheels
of the cycle are making 140 revolutions
per minute. If the radius of the wheel is
30 ¢m, the speed of the cycle is

() 155 km/hour

®) 1584 km/hour

z

' (¢) 16 km/hour .

(d 16:36 km/hour

There are 437 fruit plants in an orchard
planted in rows. The distance between

any two adjacent rows is 2m and the

distance between any two adjacent
plants is 2 m. Each row has the same
number of plants.- There is 1 m clearance
on all sides of the orchard, What is the

Rs. 100 per metre ?

‘(@) Rs. 15,600

(b) Rs. 16,800

(c) Rs. 18200

' (d)'; More information is required |

57.

ABCD is a parallelogram ‘with 4B and.>
AD as adjacent sides. If | £4 = 60° and

AB = 24D, then the dlagonal BD will be
equal to _

(a) \EAD
® 34D

(¢) 24D

@ 0

B-ABVB-O-GPU - A

58.

The point O is equldlstant from the three

~sides of a triangle ABC. Consider the-

following statements :
I ZOAC + LOCB+ £OBA =90°
2. ZBOC=2/BAC
3. The ';ierpeﬁdiculérs,drawn from any

~ point on O4 to AB and AC are
- always equal

“~Whichof “the. above' statements are

59.

correct ?

(@ 1 and 2 only

(b) 2 and V3 only

(c) 1 and 3 only

L@ 1,2 and 3

‘ Consider the following statements :

1. If the height of a cylinder is
~ doubled, the area of the curved
surface is doubled.

2. If\the radius of a hemispherical
solid is doubled, its total surface
area-becomes fourfold.

Which of the above statements is/are
correct ? '

(a) 1only

() 2 only |

(c) Both'1 and 2

(d) Neither 1 nor 2
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(@)
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@
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(@) T 15600

3
(b)) & 16,800

$7.

© (o) ®18200

() e guR1 B ImaESar @

ABCD i g # Pt 4B
IR AD Herg o € | 7fG 242 60° AR

o

(a) V24D

®) V34D
() 24D

| @ 34D

AB=24D, @ fawei BD fred waex
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58. ﬁ'@OQEBﬁWABC?ﬁ?ﬁ?ﬁ'{{WGﬁﬁ
E W%lﬁmﬁﬁammﬁ?ﬁ

1. LOAC + LOCB + ZLOBA = 90°

2. ZBOC=2£BAC |

3. AB3R ACWR OA%%ﬁﬁg%aﬁ'
T T weE W R

| Wmﬁﬁaw/ﬁﬂﬁ%/%?
‘(a)mlaﬁiz

) ésa_—«rzaﬁzs, :

59,

@ Fa1aR3

--(ci) 1,23R3 .

ﬁwﬁﬁaaﬁmﬁaﬁﬁﬁn:
R @ A S T A
© St g, Eﬁﬂ%gﬁaﬂéﬂwaﬂm |
Cw SRR ) |

2. atm e B oy B <
H R 2, D T FA T8 S
R A RS R

w@wmﬁﬁﬁ-ﬁﬁm/@#@%/i? ‘

@ ¥l | |

O FE2

| (©) mﬁzzaﬁ

@ H?ﬁl?‘éTZ
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60. A large water tank has the shape of a’ 63 Water is filled in a container in such a
cube. If 128 m® of water is pumped out, manner that its volume doubles every
the water level goes down by 2 m. Then 5 minutes. If it takes 30 minutes for the
the maximum capacity of the tank is container to be full, in how much time
, ' ' - will it be one-fourth full ?
(@) 512 m’ '
- : (@) 7-5 minutes
480 m’
(®) 48 ® 15 minutes
24 m’
© 324m (c) 20 minutes
.3 ) ‘ .
(d) 256 m (d). 17-5 minutes
61. The cifcumference of a circle is 100cm. 64, 30 metallic cylinders of 'same size are
The side of the square inscribed in the melted and cast in the form of cones
circle is having the same radius and height as
those of the cylmders
(a) 5042 cm -
: Consider the following statements : -
» T v Statement I : A maximum of 90 cones
' will be obtained.
‘ ((;) 50v2 L ' - Statement IT : The curved surface of the
- cylinder can be flattened
_ : : : . in the shape of a rectangle
100v2 | - | ~ butthe curved surface of
@ cm _ ~ the cone when flattened
' : " has the shape of triangle,
62. From the solid ‘gold in the form of a . Which one of the foll«;wing is correct in
cube of side length 1 cm, spherical solid TRELCE KR the above ? .
bﬁ‘,ﬂls cach ha\t/)mg ghe Asurface a;ea. (a)  Both Statement I and Statement II
cm’” are to be made. Assuming that - are correct and Statement 11 is the .
there is no loss of the material in the . oy ’
. correct explanation of Statement 1
process of making the balls, the- _ v v .
maximum number of balls made will be (b) Both Statement I and Statement II
' - are correct and Statement II is not
@ 3 the correct explanation of Statement I
i | (b) 4 ' ' o (c) Statement I is correct but State-
o ' : . : ~ ment II is not correct
| (c) 6
, d Statement I is not correct but
o) 9 » ' . Statement II is correct
o o . ‘

B-ABVB-O-GPU - A 2
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61.

®

(©)

. 62.

@

@

AT §, A 9T @ &) 2 m A 9T ST

g R sfiman e w7
(a)
®)
©

s2m®
1’180 m’>
324-m*

256 m®

T 37 B ARk 100cm 2 | 3%, ¥ T
e ST B ? :

(a) 5042 cm

100
T

5042
— CIm

T

100V2

cm
T :

[ cm Sie Io1 U R F 3 T

| 3 MasR i, e gds 0 g

8% 7% cm? §, A S € | TR AT

g & W T fit @ wfea § e Hi

il A 2, 3o 3T e

e 1 e ?

(@ 3
() 4

(c) 6

D9

23

63.
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© 20 fire
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An equllateral triangle BOC is drawn
inside a square ABCD. 1If angle
AOD = 20, what is tan6 equal to ?

@ 2-43
® 1+2

© 4-+B

@ 2++3

The diameter-of a wheel. that makes
452 revolutions to move 2 km and
26 decametre is equal to

. .(a) .1% m

- (b) I%m

@ 2% m

If X is. any point within a square ABCD
and on AX a square AXYZ is described,
which of the following is/are correct ?

1. BX=DZ or BZ=DX

2. ZABX=/ADZ or ZADX = Z ABZ

Select the correct answer using the

code given below :

- (@) 1 only
(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

B-ABVB-O-GPU - A

68.

The two adjacent sides of a cyclic
quadrilateral are 2 cm and 5 cm and the

~ angle between them is 60°. If the third

69.

side is 3 ¢cm, then the fourth side is of

length

(a 2 cm

(b) 3 cm

(c) 4cm

@ 5 cm

Let A denote the set of quadrilaterals
having two diagonals equal and bisecting
each other. Let B denote the set of

quadrilaterals having diagonals bisecting
each other at 90°. Then 4N\B denotes

(a) the set of parallelograms
(b) the set of rhombuses

(c) the set of squares =

~(d) the set of rectangles

70.

A square is inscribed in a right triangle -
with legs x and y and has common right

angle with the trlangle The perimeter of
the square is g1ven by

(a) \
Xty
) 22
x+y
2xy
© =
@ 4xy
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U FETg ﬁgvf BOC @& & ABCD
& o ymfea B s &1 ok
AOD =26, @ tand fored =R & ?

@ 2-43 -

) 1'+ﬁ

© 4-+3

@ 2443

- 66.

e qfed =1, Sifs zmaﬁtzsé-mﬁzt

| aaﬁﬁ452qﬁamwm% = TR 2

67.

(a) 1-297 m
() 132 'm
© 22 m

@ 2L m

XﬁABCD%WHﬁ%%ﬁ%Sﬁ?AX

W TF 9 AXYZ %1 o fmar s @ |

| ﬁw&rﬁaaﬁﬁaﬁam/ﬁﬂé%/%?

1. BX= DZTJTBZ DX

2 ZABX'= ZADZ?IT LADX = LABZ

,ﬁ%ﬁﬁﬁ@z,mm»m-aﬁm

@ Fad 1

(b) ér«mz |
© 13237

@ AW, TR

25
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@ R g A @ ww e 2.om

R 5cm€ R 99 gt & &9 @1

60° & | afe gdta 9= 3 em d, =gl |
g@naﬁaméw%?
(a)20m. ‘

() 3 cm

(c) 4 cm
@ 5cm |
maﬁﬁwuaaagﬁaﬁ%waﬁasﬁm

© B Tt el g € ok o gm
& fonfm s € | W Afm B

et % v o et 2 s et

T GER A 90° F H W s wy

- 1@ 4nB F qufar & 7

(@) @R T =
(b) FAEIGHS B T
(c) mﬁ’amag?ﬂ

@ em—cﬁemagﬁa

70.

@ W, 1 oty o A
e & si:ferm forn Sman @ ek B
mmaﬁwaﬁ?aﬁamwﬁwmﬁ"a%y

i & IR T @7

(@) =2

(®) _4_"1

© 22

@ ——=2
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From a rectangular sheet of sides 18 cm
and 14 cm, a semicircular portion with
smaller side as diameter is taken out.

Then the area of the remaining sheet

 will be

72.

73

@

(@) 98 cm’?
() 100 cm’
(c) 108 cm*

d 175 cm’

ABCD is a square. If the_sides AB and
CD are increased by 30%, sides BC and -

AD are increased by 20%, then the area
of the resulting rectangle exceeds the

‘area of the square by

(@ 50%.

®) 52%
©) 54%

56%

. A water tank, open at the top, is hemi-

spherical at the bottom and cylindrical

_above it. The radius is 12m and the

capacity is 33127 m’. The ratio of the
surface areas of the sphencal and
cylindrical portlons is

'I(a)'_ 3:5

(b) 4:5

c) 1:1

@ 65

B-ABVB-O-GPU - A

26

74

75.

. .The areas of three mutually perpendi-

cular faces of a cuboid are x, y, z. If
V is the volume, then xyz is equal to

(a Vv

®

() 2V
@ 21
Let V be the VOlumé of an inverted cone

with vertex at origin and the axis of the
cone is along positive y-axis. The cone is

filled with water up to half of its height. -

The volume of water 1s

v
R
Y -
4

6

' V
c —
N &
4
d =
@3

- Three récta_ngles R, R, and R, have the

1 76.

same area. Their lengths x,, x, ‘and x3 _

" respectively are such that x; < x, <x,.
If 7, V, and V, are the volumes of

- the cylinders formed from the rectangles

‘R,, R, and R, respectively by joining the

parallel s1des along the breadth, then
which one of the followmg is correct ?

@
®)
©
G

‘V3'_< ‘Vz < V1
V<V, <V,
Vi<V, <V,

V3< Vl <V2
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18 cm?:ﬁ? 14 cm?ﬁ Wﬁaﬁﬁ HAAATRR

AR, DA A R o e AT

W%wﬁmm%m’raﬁgéw

| ,mamam@mv

(a) 98 cm’

-(b) 100_- cm

(c) 108 cm?

@ 175 em®

ABCDH =t ¥ | afy qemsit AB ik CD

# 30% 3fg it W, sEmAt BC SR AD

# 20% 3ig N S, @GR sEd =

| g ot 3 G @ e stferes g 2

@) 50%

(b)) 52%

©) 54%

(d). 56%

- 13

T U R R A g A AR

FfMeT R 3R IR A JoER 2 | gad
- = 12mR ek o 33122 m R
o wmm%@%maﬁm

ET&E[WW%?‘

(a) 3:5 

_(b)74:5

- (©) 1-:1

@ 6:5

27

74, '@m%%ﬁﬂwwqﬁlﬁ%aﬁm

xyz%lqﬁmﬁﬁV% Eﬁxyzﬁﬂ@f

T OWER R 7
(@ V.

75,

® v
@© 2V

(d) 2V2

Wﬁﬁﬂ%@ﬁgwaﬁéaﬁw

. wlERE S F e VR R dE &

I HARHE Y- F Agew | | o B

| SERT STHT IS T T F T T |

@

76

=

qFﬁaﬂarmaaw%?

—~
=

©

NS @[S asowlN

%ﬁ—rranu?ﬁ R, R, ﬁIRw‘mm )

%laaa?rmmsr X, xzaﬁ"{x%{'ﬂ
TR % ﬁh" xl<x2<x3%| ‘qﬁ' aﬂzréﬁ
R, R, SR R, &Y <2 arell wHiar st

| ﬁmmﬁ@w&mma#w

'VVﬁTV%ﬁﬁWﬁF@Hﬁ%HﬁW.

W@H@%?
(@ V< v, <-, v

| (b) vV, <V, < ¥,

© W<V <¥

(d) V< ¥V, <V,
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78.

(@

If the surface area of a cube is 13254 cm?,
then the length of its diagonal is

(a) 444/2 ¢m
(b)

©

44J§ cm
47«/5 cm

47«/3 cm

<

The area of a trapezium is 336 cm’. If

its parallel sides are in the ratio 5: 7 and
the perpendicular distance between them
is 14 ¢cm, then the smaller of the parallel
sides is

(a) 20 cm

®) 22cm v

(c) 24 cm

- (d) 26 cm

79.

80.

How many spherical bullets each of
4 cm in diameter can be made out of a

cube of lead whose edge is 44 cm ?

@) 2541

(b) 2551

(c) 2561
(@ 2571

A river 2-5m deep and 45m wide is
flowing at the speed of 3-6 km/hour.

. The amount of water that runs into the

sea per minute is -
(8) 6650 m’
(b) 6750 m’
(é) 6850 m’
d) 6950 m’

B-ABVB-O—GPU -A
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81.

A _ M B
AB is a line segment of leng"ch-Za, with
M as mid-point. Semicircles are drawn
on one side with AM, MB and AB as

diameter as shown in the above figure.

A circle.with centre O .and radius 7 is

drawn such that this circle touches all
the three semicircles. The value of 7 is

7
©) % :
© 3
@ % :

(3)
®

From an external point P tangents P4
and PB are drawn to the circle as
shown in the above figure. CD is the
tangent to the circle at E. If AP =16 cm,
then the perimeter of the tnangle PCD is
equal to

24 cm

28 cm

() 30 cm
d

32 cm
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Hﬁ@ﬂﬂaﬁrqﬁuaﬁmmﬂcm
% ﬁmwaﬁmﬁw%?

(a) 44\5 cm
(b) 44«/§_cm
(c) 47\/—2— cm
(d) 4743, cm
@WWW336cmZ%IU&3?ﬁ
FHIR Y 5 . 7. Fargama # & i o
M f agEs g 14 cm B, A AWRR
gmaﬁﬁ%ﬁ'aamaﬁméw%?

(@ 20cm -

() 22 cm
' (c) 24 cm

(d) 26 cm

it QiQE?ﬂ?'a ot 1T 44cn1%
4 cm =g &t ﬁ??ﬁﬁ'TﬁFﬁq'Tﬁﬁﬁuﬁ AT
maa?ﬁ%?

2541

2551

2561
2571

(b).-

@ |
2:5 m e 9K 45 m G TH AR 3-6km /

ue Y TRIR | 98 @S | O &5 98

afwmr <t f5 Tz § wfifee oo 2,

vw%?

@

(@

6650 m’
6750 m’>
6850 m’

(b)
(9)
6950 m®

29

- 81.

ABWT%za#Tqas%@Tée%, Rraw wer

famg M2 | Ja f 3R i & gt mn

R, @ ¥ T RE AMMB 3R 4B

T o iefga @ie s € | 3 03k
e » 1w 39 W@ yaR @ S

| %ﬁ%ﬁa’tﬁa’iﬁaﬁ?ﬁaﬁmfm

L ®

- ©

@

%lrmmaﬂn%?

®

Al win N|a ulg)

o T W, Rl e farg PR, e

@t P4 3R PR Wi W €, S e

IR dAwm I ws g E

W CD TF wsR@r 8 | afk 4P=16cm

?ﬁﬁ‘gﬂPCDWQﬁmﬂw%?
(@ 24 cm

~(b) 28 cm

(©) 30 cm

: _' (d 32cm
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83. y 8 B - 85. A circle of radius r is inscribed in a
. o ’ - regular polygon with n sides (the circle
% - touches all sides of the polygon). If the

: /- , . perimeter of the polygon is p, then the
D C : ' area of the polygon is :
' o @ (p+nyr
In the above figure, ABCD is a parallelo- ; _
gram. P is a point on BC such that :
" PB:PC=1:2. DP and 4B when both - = ® @p-n)r

produced meet at Q. If area of triangle

BPQ is 20 square unit, the area of (c)v pr

triangle DCP is : : —

(a) 20 square unit ' ‘ (d) None of the gbove |

(b) 30 square unit - a " 86. The LCM of two numbers is 12 times

their HCF. The sum of HCF and LCM
is 403. If one of the numbers is 93, then

(©) 40 ‘squ_are v the other number is

(d) None of the above A (@ 124
| | : () 128
84. Chord CD intersects the diameter AB of - - v
a circle at right angle at a point P in the : (©) 134
ratio 1 : 2. If diameter of circle is d, then :
CD is _egual- to ' » " — @ 138
4(a) @ '87. The value of (0-63+0-37) is |
@ 1
2d :
© 5 5 100
o 91
2:2d
0 2 e
' . L o 99
| 234 o 1000
ol 4 —=
) 3 _ , o . @ . 999
B-ABVB-O-GPU - A o 30
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8. 5 " 85, nﬁﬁTﬁﬁaﬁ@Wﬂﬁmrm
- , TH S G TR (S e A
et @ easf R R) | Al wene @
- IR p ®, @ SRS S T R 7
| mﬁw#ABCDQ%Wﬁ@ﬁ?%I" @ @tor |
P,BCR Ts fag @ woR ® f&
© PB:PC=1:28 | DPIR ABF ww . ©® @p-ny
WM W QR fedt €1 afk Pawoapo . |
F e 2097 T 8, @ B oep (@) 321
L ,m%mw%? SN
(@) S ¥ FIE T
() 200 g | A . | .
| ' R . 86. 3 HerEt # LCM 9% HCF & 1277
- (b) 303ffm§ » 00 RIHCFIR LCMa Fm 403% | AR
PR B B wmaﬁﬁ%@%% Eﬁqgﬁa@m
T | & | Me?
@ vHEwRaEE (@ 124
%4.WCDWQH%WABﬁ_ﬁ§P | _@ 128
i Wwﬁwml:zﬁmﬁuﬁ?@ﬁa. (c) 134
CFG R A gm o 4 2, @ CD ‘
B forach e 2 | @ 138
n @ 2 | 8 007 w27
3 @ 1
. 2d
& — . | | . 100
3 | 190
= 2424 o _
2+/3d | S 1000
@5 o 9y
3 * B-A_BVB;O‘-GP_U ~A
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_pounded half 'yearly. What will be the R

m%%éw@gﬂn

| LET’S LEARN TOGETHER

A sum of Rs. 10,000 is dep031ted for
1 year at the rate of interest 10% com-

interest at the end of one year ?

(a) Rs. 1000

" (b) Rs.1025

89.

(c) Rs.1050

(d). Rs.1100

In a mixture of milk and -water -of
volume 30 litre; the ratio of milk and

water is 7 ;3. The quantity of water to -
- . be added to the mixture to make the .

* ratio of milk and water 1:2 is

90.

(@) 30

() 32

(c) 33
@ 35

The difference of maximum values
of the expressions (6+ 5x—x°) and
(y—-6-~ %) for any real values of x and
yis :

(@ 16

®) 17

() 18

91.

@ 19

A clock' is started at noon. By 10 miﬁutes

past 5, through what angle, the hour hand -

moves ?

(a) 160°

(b) 145°
() 150°

@) 155°

B-ABVB-O-GPU - A

'92. The minimum value of .

cos’x + cos’y — cos’z
is - . .

@ -1
® 0
© 1
@ 2
93. The value of |
'v 3200t2(ﬁ).— SS.ecz(E) +‘800§3(£) :
S\ ) e)
is equal to : A - E
(@) A3
()" 2.3
© 3
@ 33

94. If x= —?—1—, then the value of
— 216 .

1 ]
- (I_x)l./3 15

.9
(?) : g

o |

@

RV S
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88. aémﬁamamwﬁmﬁlo%mﬁ

W B W K| & 10,000 Ft qfy-1 7
%ﬁqwaﬁrmﬁﬁ%l@aﬁ%aﬁ
_ﬁmwtﬁm? :

(a) % 1000
®) & 1025
(©) % 1050
@ w1100

89 7y ok a3 B % 30 S A

- # gy R U SUE 738 | feam
sieX gt sk fiem W firsm # gy e
qEt HOSAEE 1:2 ® Sem 2
(@ 30 '

(b) 32

- x © 33

@ 35

90. x 3R y& &t it aeafes ot & forg
- ER (6+5x-2D) IR (y-6-37) F
Aftraw WAl & HaR FT e 7
(a) 16 |
® 17
(c) 18

@ 19

91. T T T WeATE A T g Rt
R SR 10 fire e 3 s g e
. IO P ? |
(a) 160° |
() 145

© 150°
@ 155

» 33 .

/

Migsio mman

92. cos’x + cos’y —cos’z F ATH "I FET

-

@ -1
® o
o
BCES

93. 3200t2(£) - 8se02(£) + 80_053(£ :
: 4 "3/ 6 -

&1 7 fFed R g7

- @ 3

) 243
e/ B
(;d) 343

94.aﬁ'x_——— 2R3 L  amam
. 216

(1_—x)'”3

TR ? |
9

(a)" g ,

® -

(©

IRCIES

(@

wils
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96.

97.

How many right angled triangles can be
formed by joining the vertlces of a
cub01d ? '

(a) 24
® 28
(c) 32

(d) None of the above

The average weight of students in a
class is 43 kg. Four new students are
admitted to the class whose weights
are 42 kg, 36-5 kg, 39 kg and 42-5 kg

respectively. Now the average weight of -

the students of the class vis 42:5 kg. The
number of students in the beginning was

(@ 10

®) 15

(c) 20

@ 25

Four years ago, the average age of
A and B was 18 years. Now the
average age of 4, B and C is 24 years.
After 8 years, the age of C will be .

(a) 32 yeafs
® 28 years
(c) 36 years

(d) 40 years

B-ABVB-O-GPU - A

98.
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Ifa vanable takes discrete values a + 4,

o a=35, a- 25 a-3, a-2, a+05,

99.

100.

@

(d) v(n+1)('n+2>)

a+5 and.a - 0-5 where a > 0, then the
median of the data set is

@ a-25 .,
®) a-125
(¢) a-1-5

@ a-075

If each of n numberé x=i(@=123,
...n) is replaced by (z + l)x,, then the
new mean is

n+3
2

n(n+1)
® "D
(n+1)(n+2)

© o

3

The weighted arithmetic mean of first
10 natural numbers whose weights are

~equal to the corresponding numbers. is

equal to

@ 7

® 14

(c) 35

(d) 385
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T T F 9T FY a1 wEE

P F R E

(a) 24

 ®) 28

96.

97.

() 32

. @ S A A B T

U Fen & frnfiat w5 shed TR 43 ke
2| 3@ FH =R U fenfE 3wy
o & 9R wmw 42 ke, 365 ke,
39kg 3R 42-5kg ® | ar et & frenffat

&1 WA WK 42-5kg B | Y€ A Hew F
_ﬁmﬁaﬁaﬁmma’??_' .

() 10

® 15
{c). 20
(d 25

R af "gd, A ¥R B sEE g
18 ¥ ot | 3 4, B3R CH) siaa Iy

24au°%tsan°qmcaﬁ3ngw_'

B ?

() 3299
®) 28 = |
© 36 7

@ 40

migsiongyan

98.

e w = fafew "W a+4, a-35,

- a-25,a-3,a-2,a+05, a+5 3R

a-0-5,9@fF a>0, AT &, N Aiwst &

99,

100

@ a-25
b a-125
(c) a-15
@ a-075
af nEemt x =i (=1, 2,3,

TS FEAT W (i+ 1)x, TR Whwea
o s, d Fa wer F@ enm ?

n+3
_2_ _

@

n(n+1)
7

)

© b+
* 3n
’(n+1)(«n-+2) B

d
@) 3

. Weet 10, gyt wemst &1, R 7R

WA G F WK 8, wr&-crmm

Je e SR 8 7

(a) 7

() 14

35

(c) 35

d.385
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